Remember count full boxes as 1 
Boxes bigger than half counted as 1
Boxes half or smaller not counted as 0
If boxes appear certain they are half size add two(halves) to get 1 & 4 for 2 etc etc…… 
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Record the area of the figure in square units.

Note: 1 square = 1 x 1 Unit.

Area=
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Record the area of the irregular figure in square units.

1 square = 1x 1 Unit.
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Determine the area of the irregular figure in square units.
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10 The figure shows a puzzle made from identical cubes

Write down the number of cubes in this puzzle. @
‘There are. cubes in this puzzle. < >N

11 Write down the measure of the angles marked A. B and C

(12 The figure shows the design of a remote contro e Al shown s 2 sl eraphic of
the car and aerial. AB is the major axis of the ellipse and the aerial is 2 normal to the
ellipse at P. Determine the focal points of the ellipse and draw the aerial at P.
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10 The figure shows a wooden puzzle consisting of identical blocks

Determine the number of blocks required to complete
the puzzle, as shown by the broken lines

Tt will require ‘blocks to complete the puzzle

AN

11
‘Wite down the measure of the angles marked A. B and C

Regular Octazon

|
U\

12 4 gesign forthe head ofa golf club s shown.

11:47
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Determine approximately the area of the irreguiar figure in square units.

1x 1 Unit.
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Determine the number of extra
blocks required to complete the
wall shown in the sketch.

Answer:-
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Determine the number of hexagonal paving slabs which are required to pave the
path as shown.
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Answer:-





